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1. BFESE:
@ BEER:
%] 0.1g 4843, A0 TmL 12BUR, #TKa5%K. 4°Cx12000rpm &> 5min, BLE

ia, Bk ERF.

[E]: BEINEERE, THRBARRE (9): EEURIFR(MLZ 1: 5~10 KILLHLHTE
BY,
@ {HE/HREA:

S EMRENAARIEOER, BUOEFLE B4 500 SHESARIIA 1TmL ZEUR,
R R S AREE (KA, THER 200W, #87 3s, [Bf8 10s, 5 30 JR); 12000rpm
4°CE0 10min, BLER, Bk ERR.
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HITIREL.
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DRSS, EER 15min &, A ARNTFE 3000rpm F O 5min f7 B2 &
FERE IMLFEEBELEBN (7R 1cm) B, TEEK 62nm L RHREE
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[E]: & A WEEXT 0.8, FTAFAEBIIHEA LERHTHE, HEESH D ANTE
A=W
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1, RIBAARSITHE:

TEEE(Mg/9)=(C TREXVT)x(A UE-A ZR)+(A tRE-A FH)+(V1+VxW)xD
=2x(A WE-A =H)+(A tuE-A ZH) +WxD

T#HEE(Mmol/g)= (C #REXVT)x (A UE-A =H)+(A TRE-A ZH)+(VI-VXW) x
103+MrxD

=35.81x(A WE-A Z=H)+(A tRE-A ZH) +WxD,

2, RsEtTE:

T8 (ug/104 cell)=(C 1REXVT)x (A WUE-A =H)+(A TRfE-A EBH) (V1 Vx40
&) D

=2x(A E-A Z=H)+(A TRE-A =0) ~HEHExD

TF#EE(nmol/104 cell)=(C fREXV1)x (A UE-A TH)+ (A TvE-A =H)+(V1-VxH
EE) x103+MrxD

=35.81x(A WUE-A =H)+(A tRE-A =0) +HEEHE=D

3. R ERTE:
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TekEE(ug/mL)=(C #REEXVT)x(A ME-A =H)+(A fuE-A =H)+V1xD

=2x(A WE-A =H)+(A tuE-A =H)=xD

T EE(umol/L)=(C tRExV1) x(A UE-A =H)+(A tRE-A Z=H)+V1x103+MrxD
=35.81x(A WE-A Z=H)+(A tRE-A ZH)xD

C tE--- SRR, 2ug/mL;  VI---IIANEAMAF, 0.24mL;

V---REGRIATR, 1mL;, W---HFEERE, 9,

D---THFHEE, FHEA 1, Mr---T#knFE, 55.847.
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